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CONIC SECTIONS

1. Latus rectum of the parabola z* = 4ay is:



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sY6x3uVfodSL

B.4a

C.2a

D. None of these

Answer:

o Watch Video Solution

2. The centre of the circle

z® + 9> 4+ 8z 4+ 10y — 8 = Ois:

A. (4,5)


https://dl.doubtnut.com/l/_sY6x3uVfodSL
https://dl.doubtnut.com/l/_yGe9glC2NdzN

B. (-4,-5)

C.(5,4)

D. (-5,-4)

Answer:

o Watch Video Solution

3. The focus of  the parabola

Yy —x —2y+2=0is:

()


https://dl.doubtnut.com/l/_yGe9glC2NdzN
https://dl.doubtnut.com/l/_HCN5MuC6nFWm

B. (1,2)
(2,1
. Z,

5 3 5
\47 2

Answer:

o Watch Video Solution

4. The vertex of the parabola y* = 4a(z + a)

IS:

A. (0,0)


https://dl.doubtnut.com/l/_HCN5MuC6nFWm
https://dl.doubtnut.com/l/_fn3qwOIYuHvd

B. (-a,0)

C. (a,0)

D. (0,a)

Answer:

o Watch Video Solution

5. The equation of the parabola with the focus

(3,0) and directrix x+3=0 is

A y? = 6z


https://dl.doubtnut.com/l/_fn3qwOIYuHvd
https://dl.doubtnut.com/l/_LnF7fLhTR3MJ

B.y’? = — 3z

C.y? =12z
D.y? = 2z
Answer:

o Watch Video Solution

6. The equation of the parabola with focus at

(0, 3) and the directrixy+3=0's

Ay’ =12z


https://dl.doubtnut.com/l/_LnF7fLhTR3MJ
https://dl.doubtnut.com/l/_tVHtccy4Yj9C

Czl= — 12y
D.y’ = — 12z
Answer:

o Watch Video Solution

7.1f the parabola y? = 4az passes through (3,

2), then the length of its latus rectum is

A4


https://dl.doubtnut.com/l/_tVHtccy4Yj9C
https://dl.doubtnut.com/l/_xSb7m1nWiEtA
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Answer:

o Watch Video Solution

8. The foci of the ellipse 922 + 4y* = 36 are

A.( £5,0)

B.(0, —5)


https://dl.doubtnut.com/l/_xSb7m1nWiEtA
https://dl.doubtnut.com/l/_c2Yvw9coMQ1q

C.(—5,0)

D. (0, +5)

Answer:

° Watch Video Solution

9. The foci of the hyperbola 92— 16y* = 144

are

A.( £5,0)

B.(+4,0)


https://dl.doubtnut.com/l/_c2Yvw9coMQ1q
https://dl.doubtnut.com/l/_R8iEToUqtGti

C. (0, =+ 4)

D. (0, +5)

Answer:

O Watch Video Solution

10. The equation of the circle passing through

2 2

x Y
the foci of the elli =1
e foci o e ellipse 16 + 9 , and

having center at (0,3) is

A2


https://dl.doubtnut.com/l/_R8iEToUqtGti
https://dl.doubtnut.com/l/_cunp3mc9As6k

B.4

C.3

D. None of these

Answer:

o Watch Video Solution

1. In an ellipse, the distance between its foci is

6 and minor axis is 8. Then, its eccentricity is

A3
5


https://dl.doubtnut.com/l/_cunp3mc9As6k
https://dl.doubtnut.com/l/_64Jp8dVWi3uW
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Answer:

o Watch Video Solution

12. The general equation
ax’® + 2hxy + by* + 29z + 2fy+c =0

represents a circle if


https://dl.doubtnut.com/l/_64Jp8dVWi3uW
https://dl.doubtnut.com/l/_lql8idMHPlsT

A. a=b, h=0

B.a=b=0,h ne O

C.a#b,h=0

D. None of these

Answer:

o Watch Video Solution

13. The centre of the circle (z — 1)* +3? = 4

IS


https://dl.doubtnut.com/l/_lql8idMHPlsT
https://dl.doubtnut.com/l/_H0siwYHPIzSo

A. (-1,0)

B. (0,1)

C.(1,0)

D. None of these

Answer:

° Watch Video Solution

14. The equation of circle having centre (0,0)

and area 154 sq. units.


https://dl.doubtnut.com/l/_H0siwYHPIzSo
https://dl.doubtnut.com/l/_XSbtWhv9glWW

A z® 4+ y* =16
B.z + y* = 49
C.z?+y* =20

D. None of these

Answer:

o Watch Video Solution

15. The eccentricity of the ellipse, if the minor
axis is equal to the distance between the foci

is:


https://dl.doubtnut.com/l/_XSbtWhv9glWW
https://dl.doubtnut.com/l/_VCJR2daczgcc
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D. None of these

Answer:

o Watch Video Solution

16. The eccentricity of the hyperbola whose

latus rectum is half of its transverse axis is:


https://dl.doubtnut.com/l/_VCJR2daczgcc
https://dl.doubtnut.com/l/_Sp6jhjoP6yNl
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D. None of these

Answer:

o Watch Video Solution

17. The length of the major axis of the ellipse

2 P
— 4+ b_2 = 1, is three times the length of

a2


https://dl.doubtnut.com/l/_Sp6jhjoP6yNl
https://dl.doubtnut.com/l/_d0UcetB0jm4n

minor axis, it eccentricity is
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Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_d0UcetB0jm4n

18. If (2,4) and (10,10) are the ends of a latus

1
rectum of an ellipse with the eccentricity 7

then the length of semi-major axis is:

20
3

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DYyMvhJWZGxa

19. If the vcircdes 2’+4>=9 and
z? 4+ y* + 8y + ¢ = 0 touch each other, then
c is equal to:

A.-15

B.15

C.16

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_sgmYCHsSSSpn

20. If the circle 2 + y* + 2az + 8y + 16 = 0

touches x axis, then the vlaue of a is:

A *1
B.+4
C.x8

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kwOBtC8X9NiA
https://dl.doubtnut.com/l/_VXCHitlcVTiP

21. If (x,3) and (3,5) are the extremities of a

diameter of a circle with centre at (2,y) then

the values of x and y are:

A. x=1,y=4

B. x=4, y=1

C. x=3, y=1

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_VXCHitlcVTiP
https://dl.doubtnut.com/l/_XpYM8u2wwcbp

22. If  (-3,2) lies on the circle
z? +y* + 29z + 2fy+c=0, which is
concentric with the circle
z? 4+ y* + 6z + 8y — 5 = 0 then cis equal to:
A. 11
B. -11

C. 20

D. None of these

Answer:

O Watch Video Solution



https://dl.doubtnut.com/l/_XpYM8u2wwcbp
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23. The equation

represents an ellipse if:

A\ >D5

B.2< A<H

CA>2

D. None of these

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_XpYM8u2wwcbp
https://dl.doubtnut.com/l/_u76jmUt65RXh

24. The equation
1622 + y* + 8zy — 74z — T8y + 212 =0
represents:

A.acircle

B. a parabola

C.an ellipse

D. a hyperbola

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nhXhApL3cmP4

25. The latus rectum

922 — 6z + 36y + 19 = O is:

A2

B.4

C.6

D. None of these

Answer:

of

parabola

o Watch Video Solution



https://dl.doubtnut.com/l/_DAdUwB9KjjVw
https://dl.doubtnut.com/l/_cZw22PNWJYEJ

26. The latus rectum of the ellipse

1622 + y* = 16 is:

%
() [\
o ()

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_cZw22PNWJYEJ

27. The distance between the directrices of the

2 2

lipse 2 + L — 1
ellipse — g = Llis:

16

A.\/§

21
B. —

V5
18

C.\/5

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9dE0L7X1sDsn
https://dl.doubtnut.com/l/_VhvymGbpCi2Y

28.The length of the latus rectum of hyperbla
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D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VhvymGbpCi2Y

29. The eccentricity of

922 — 16y* = 144 is:

® >
S I NEOU) N N

0

D. None of these

Answer:

the

conic

o Watch Video Solution



https://dl.doubtnut.com/l/_xbI7QVi2m76n
https://dl.doubtnut.com/l/_VB8e53rgNDRw

30. The foci of the hyperbola 9z%- 16y* = 144

are

A.(+4,0)
B.(0, +4)
C.(%£5,0)

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_VB8e53rgNDRw

1. In each of the following find the equation of

, , 1 1 , 1
the circle with centre (5, Z) and radius EDR

° Watch Video Solution

2. Find the equation of the circle with centre

(2, 2) and passes through the point (4, 5).

o Watch Video Solution



https://dl.doubtnut.com/l/_RV1F2eGK5csc
https://dl.doubtnut.com/l/_Z5yCM4988QIe
https://dl.doubtnut.com/l/_IeqDYjdwzGYa

3. Find the equation of a circle whose centre is

(3,-2) and has an area of 154 squares units.

° Watch Video Solution

4. Find the equation of a circle having centre
at point C(-2,3) and touching the straigth line

3x-4y-2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_IeqDYjdwzGYa
https://dl.doubtnut.com/l/_YhNNvz2foroM

5. In each of the following find the centre and

radius of the circles

2 2
3 5\ 289
(x+5) +(Y_5> 4

° Watch Video Solution

6. In each of the following circles, find the
centre and radius.

z? +y* — 8z + 10y — 12 =10

° Watch Video Solution



https://dl.doubtnut.com/l/_Cdy3EDLz5513
https://dl.doubtnut.com/l/_50pmuOaoWZcs
https://dl.doubtnut.com/l/_KUOBw2kz2V2E

7.Does the point (-2.5, 3.5) lie inside, outside or

on the circle 2 + y? = 257?

o Watch Video Solution

8.In each of the following find the coordinates
of the focus , axis of the parabola , the
equation of directrix and the length of the
latus rectum .

y = — 8z

o Watch Video Solution



https://dl.doubtnut.com/l/_KUOBw2kz2V2E
https://dl.doubtnut.com/l/_btmvyY4yMZ3t

9. Find the equation of the parabola that
satisfies given conditions :

Vertex (0, 0), focus (-2,0)

o Watch Video Solution

10. Find the coordinates of a point on the
parabola y? = 18z, where the ordinate is 3

times the abscissa.

o Watch Video Solution



https://dl.doubtnut.com/l/_8YSgdRioOc7O
https://dl.doubtnut.com/l/_Gpm6d0daDOAR
https://dl.doubtnut.com/l/_lJIpowFWirFp

1. Find the equation for ellipse that satisfies
the given conditions

Vertices (0, + 13), foci (0, £ 5)

o Watch Video Solution

12. Find the eqgation for the ellipse that
satisfies the given conditions :

Length of major axis 26 , foci ( + 5, 0)

o Watch Video Solution



https://dl.doubtnut.com/l/_lJIpowFWirFp
https://dl.doubtnut.com/l/_b5yZPzk4qpEQ
https://dl.doubtnut.com/l/_epEC9MYdNB4v

13. Find the equation for the elllipse that
satisfy the given conditions:

Foci( £ 3,0), a=4.

° Watch Video Solution

14. Find the equations of the hyperbola
satisfying the given conditions.

Vertices (0, + 3) foci (0, £ 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_epEC9MYdNB4v
https://dl.doubtnut.com/l/_XcS3IMEZjVGr
https://dl.doubtnut.com/l/_d00mDt6LFm4Q

15. Find the equations of a circle having radius
5 units and the centre as the point of
intersection of the straight lines 2x-y-5=0 and

3x+2y=4.

o Watch Video Solution

16. LL is the latus rectum of a parabola

z? = — 8y. Find the coordinates of points L

and L.

o Watch Video Solution



https://dl.doubtnut.com/l/_d00mDt6LFm4Q
https://dl.doubtnut.com/l/_Us2MyrJgHkZw

17. Find the area of the triangle formed by the

lines joining the vertex of the parabola

z? = 12y to the ends of its latus rectum.

o Watch Video Solution

18. Find the equation of a hyperbola whose
vertices lie on y-axis, centre is at the origin, the
distance between the foci is 16 and

eccentricity is /2.

° Watch Video Solution



https://dl.doubtnut.com/l/_HIzXeWUQHG9W
https://dl.doubtnut.com/l/_yBs5JyUwAapd

19. Find the equation of the hyperbola
satisfying the given conditions. Foci

( £ 34/5, 0) the latus rectum is of length 8.

° Watch Video Solution

20. In each of the following, find the equations
of the hyperbola satisfying the given
conditions.

. 5
vertices are (0, + 5), e=7.

o Watch Video Solution



https://dl.doubtnut.com/l/_yBs5JyUwAapd
https://dl.doubtnut.com/l/_78EHog44xxv0
https://dl.doubtnut.com/l/_GKkzEE5ifvBI

21. The straight line y=mx+1 is a tangent to the

parabola y* = 4z, the find the value of m.

° Watch Video Solution

22. Find the length of the line segment joining
the vertex of the parabola y* = 4az and a
point on the parabola that makes an angle 6

with x-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_GKkzEE5ifvBI
https://dl.doubtnut.com/l/_IF99515xmQTq
https://dl.doubtnut.com/l/_YKeLNufrxBzU

23. Find the equation of the ellipse with
vertices at ( £5,0), foci at ( £4,0) and

centre at (0,0).

o Watch Video Solution

24. Find the equations of the ellipse whose

length of the major axis is 20 and foci are

(0, + 5).

o Watch Video Solution



https://dl.doubtnut.com/l/_YKeLNufrxBzU
https://dl.doubtnut.com/l/_wmBGZw9wRMvZ
https://dl.doubtnut.com/l/_4jAMepVdJNMc

25. Find the coordinates of the foci and the
vertices, the eccentricity, the length of the

latus rectum of the hyperbola:

y® — 162% = 16.

° Watch Video Solution

26. Find the coordinates of foci, vertices,

eccentricity, latus rectum and major and minor

| 2ty
axis of the ellipse + = L

100 25

o Watch Video Solution



https://dl.doubtnut.com/l/_OAwl6C9Bdboe
https://dl.doubtnut.com/l/_xzdFQ7LJtjLT

27. Verify that the locus of a point P which
moves so that the sum of its distance from the
points S1( — 4,0) and S2(4,0) is 10, is an

ellipse.

° Watch Video Solution

28. Find the equation of an ellipse whose
major axis is along the y-axis and which passes

through the points (2,2) and (1,4).

I ° Watch Video Solution


https://dl.doubtnut.com/l/_xzdFQ7LJtjLT
https://dl.doubtnut.com/l/_iJNEQXnKwKK9
https://dl.doubtnut.com/l/_MTncc0pbf3pK

29. Find the equation of the locus of all points
such that the difference of their distances

from (4, 0) and (-4, O) is always equal to 2.

° Watch Video Solution

30. Find the coordinates of the foci and the
vertices, the ecentricity and the length of the

latus rectum of the hyperbolas :

5y° — 9z° = 36



https://dl.doubtnut.com/l/_MTncc0pbf3pK
https://dl.doubtnut.com/l/_SbzB08EEkQRH
https://dl.doubtnut.com/l/_GuQp3etBrM6b

I o Watch Video Solution

31. Find the length of latus rectum of the

ellipse.

22 y?

— + — =1
1 * 9

o Watch Video Solution

32. Find the eccentricity, the coordinates of
the foci, the lengths of transverse and

conjugate axes and the equations of


https://dl.doubtnut.com/l/_GuQp3etBrM6b
https://dl.doubtnut.com/l/_7rh8xh8UeNJn
https://dl.doubtnut.com/l/_TUwDyJhieDRJ

directrices of the hyperbola.

y? 72 .
36 64

o Watch Video Solution

33. Show that a conic whose foci are ( £ 5, 0)

and one of the directrix has equations

36
T = is an ellipse. Hence, find the
equations.

o Watch Video Solution



https://dl.doubtnut.com/l/_TUwDyJhieDRJ
https://dl.doubtnut.com/l/_xPbvXNwPrZxm

34. Find the equation of the circle which
passes through points (2,2) and (3,4) and

whose centre lies on the line x +y = 2.

o Watch Video Solution

22 Y2
35.1f S and S' are the foci of + =1,

16 25
then show that PS+PS'=10, where P is any point

on the ellipse.

° Watch Video Solution



https://dl.doubtnut.com/l/_F8R7ke7ZVZNo
https://dl.doubtnut.com/l/_FR0hfx7WDPZU




